A & 0ol & AF S H Al A

20233 =& 1 2 LS

I

& 200 M2l
B 210 AAEHQISY
g 216 OlXt=¢ (T2 J2)
F-2-8.-2 Ol AF oH 3o Hus2
ES Al 12,699,353 12,516,015 183,338
200 M2l 12,699,353 12,516,015 183,338
210 3AHA 2= 5,028,153 5,028,103 50
216 Ol Kt==¢ 1,010,050 1,010,000 50
216-03 J|ELOI Rt==& 50 0 50
[ ety ] 50 0 50
<HSIEDL > 50 0 50
O 202d 2THENATXIY 2HH| B3 L0
6,040& 6 0 6
O 20223 LBHHSHSR T IRl XA B2 &
AO| K 26,3303 26 0 26
O 20228 M2 METSXI SR X XJAE 223
20| At 7,630& 7 0 7
O 20223 datdswns XN 222 LH0IXt
3,080 3 0 3
O 2022 ZOHQIMEHSK A IX(ESXH) EX2 &
40| At 8,503 8 0 8
220 AEAN2= 6,215,090 6,031,802 183,288
223 BX3E 2 8,830 0 8,830
223-2 MMEX S SEtet+g 8,830 0 8,830
[ LB ] 8,830 0 8,830
<HMsTISH > 8,830 0 8,830
O 22 2EEHEDNATXIY 29H| B JHENH
987,903 987 0 987
O 2022 LBHMSHIF XIS AF BiX XI&AIY 28] X
= TN 4,875,110 4,875 0 4,875
O 20229 M2 METSRI A BHX XI2ALE Z2Hl 2
23 YK 31,030& 31 0 31
O 2223 dedsws XNd 223 ZHSN
2,830,000& 2,830 0 2,830
O 202FOCIMEMFXITA HIX(ESXE) B3 =2
bl &g &tol 107,700& 107 0 107
224 J|Et=¢ 5,426,260 5,251,802 174,458
22407 12|+=¢ 5,321,260 5,146,802 174,458
[ et ] 5,321,260 5,146,802 174,458
< D&l atA > 342 0 342
O 223 XUTHE XD SIAIY M AR Bht
342,660 342 0 342
< oHLEH L > 12,086 0 12,086
O 224 & =0 Mg HI XI2 AL )3t &t OH
12,086,590& 12,086 0 12,086
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